ANOVA11

11.1
(a)
df A = c – 1 = 5 – 1 = 4


(b)
df W = n – c = 35 – 5 = 30


(c)
df T = n – 1 = 35 – 1 = 34

11.3
(a)

	Source
	df
	SS
	MS
	F

	Among groups
	4
	60
	15
	3.00

	Within groups
	30
	150
	5
	

	Total
	34
	210
	
	



(b)
F4, 30 = 2.69


(c)
Decision rule: If F > 2.69, reject H0.


(d)
Decision: Since F = 3.00 is greater than the critical bound 2.69, reject H0.

11.5 

	Source
	Df
	SS
	MS
	F

	Among groups
	4 – 1 =3
	80 x (3) = 240
	80
	80 
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 20 = 4

	Within groups
	32 – 4 = 28
	560
	560 
[image: image2.wmf]¸

 28 = 20
	

	Total
	32 – 1 = 31
	240 + 560 = 800
	
	


11.9
(a) 
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where 1 = Main, 2 = Satellite1, 3 = Satellite2, 4 = Satellite3
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where j = 1, 2, 3, 4



Excel output:

	ANOVA
	
	
	
	
	
	

	Source of Variation
	SS
	df
	MS
	F
	P-value
	F crit

	Between Groups
	6312.444
	3
	2104.148
	6.371691
	0.000859
	2.769431

	Within Groups
	18493.09
	56
	330.2338
	
	
	

	
	
	
	
	
	
	

	Total
	24805.54
	59
	
	
	
	




Decision Rule: If p-value < 0.05, reject H0.  Since p-value = 0.0009 < 0.05, reject the null hypothesis.  There is enough evidence to conclude that there is a significant difference in the mean waiting time in the four locations.
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